

RESEARCH

Open Access

Generalized set-valued variational-like inclusions involving $H(\cdot, \cdot)$ - η -cocoercive operator in Banach spaces

Rais Ahmad¹, Mohd Dilshad¹, Mu-Ming Wong^{2*} and Jen-Chin Yao^{3,4}

*Correspondence:

mmwong@cycu.edu.tw

²Department of Applied Mathematics, Chung Yuan Christain University, Chung Li, 32023, Taiwan
Full list of author information is available at the end of the article

Abstract

The aim of this paper is to introduce a new $H(\cdot, \cdot)$ - η -cocoercive operator and its resolvent operator. We study some of the properties of $H(\cdot, \cdot)$ - η -cocoercive operator and prove the Lipschitz continuity of resolvent operator associated with $H(\cdot, \cdot)$ - η -cocoercive operator. Finally, we apply the techniques of resolvent operator to solve a generalized set-valued variational-like inclusion problem in Banach spaces. Our results are new and generalize many known results existing in the literature. Some examples are given in support of definition of $H(\cdot, \cdot)$ - η -cocoercive operator.

MSC: 47H19; 49J40

Keywords: $H(\cdot, \cdot)$ - η -cocoercive; Lipschitz continuity; algorithm; variational-like inclusion

1 Introduction

Variational inclusion problems are interesting and intensively studied classes of mathematical problems and have wide applications in the field of optimization and control, economics and transportation equilibrium, and engineering sciences, etc., see for example [1–7]. Several authors used the resolvent operator technique to propose and analyze the iterative algorithms for computing the approximate solutions of different kinds of variational inclusions. Fang and Huang [8] studied variational inclusions by introducing a class of generalized monotone operators, called H -monotone operators and defined the associated resolvent operator. Fang and Huang [9] further extended the notion of H -monotone operators to Banach spaces, called H -accretive operators. Recently, Zou and Huang [10] introduced and studied $H(\cdot, \cdot)$ -accretive operators and apply them to solve a variational inclusion problem in Banach spaces. After that Xu and Wang [11] introduced and studied $(H(\cdot, \cdot)$ - η)-monotone operators. Very recently, Ahmad *et al.* [12] introduced $H(\cdot, \cdot)$ -cocoercive operators and apply them to solve a set-valued variational inclusion problem in Hilbert spaces.

By taking into account the fact that η -cocoercivity is an intermediate concept that lies between η -strong monotonicity and η -monotonicity, in this paper, we introduce $H(\cdot, \cdot)$ - η -cocoercive operator and its resolvent operator. We then apply these new concepts to solve a generalized set-valued variational-like inclusion problem in Banach spaces.

2 Preliminaries

Throughout the paper, we assume that X is a real Banach space, X^* is the topological dual space of X , $CB(X)$ is the family of all nonempty closed and bounded subsets of X , $\mathcal{D}(\cdot, \cdot)$ is the Hausdörff metric on $CB(X)$ defined by

$$\mathcal{D}(A, B) = \max \left\{ \sup_{x \in A} d(x, B), \sup_{y \in B} d(A, y) \right\},$$

$\langle \cdot, \cdot \rangle$ is the dual pair between X and X^* .

Definition 2.1 A continuous and strictly increasing function $\varphi : \mathbb{R}^+ \rightarrow \mathbb{R}^+$ such that $\varphi(0) = 0$ and $\lim_{t \rightarrow \infty} \varphi(t) = \infty$ is called a gauge function.

Definition 2.2 Given a gauge function φ , the mapping $J_\varphi : X \rightarrow 2^{X^*}$ defined by

$$J_\varphi(x) = \{u^* \in X^* : \langle x, u^* \rangle = \|x\| \|u^*\|; \|u^*\| = \varphi(\|x\|)\}$$

is called the duality mapping with gauge function φ , where X is any normed space.

In particular if $\varphi(t) = t$, the duality mapping $J = J_\varphi$ is called the normalized duality mapping.

Lemma 2.1 [13] Let X be a real Banach space and $J : X \rightarrow 2^{X^*}$ be the normalized duality mapping. Then, for any $x, y \in X$,

$$\|x + y\|^2 \leq \|x\|^2 + 2\langle y, j(x + y) \rangle,$$

for all $j(x + y) \in J(x + y)$.

Definition 2.3 Let $A : X \rightarrow X$ and $\eta : X \times X \rightarrow X$ be two mappings and let $J : X \rightarrow 2^{X^*}$ be the normalized duality mapping. Then A is called

(i) η -cocoercive, if there exists a constant $\mu_1 > 0$ such that

$$\langle Ax - Ay, j(\eta(x, y)) \rangle \geq \mu_1 \|Ax - Ay\|^2, \quad \forall x, y \in X, j(\eta(x, y)) \in J(\eta(x, y));$$

(ii) η -accretive, if

$$\langle Ax - Ay, j(\eta(x, y)) \rangle \geq 0, \quad \forall x, y \in X, j(\eta(x, y)) \in J(\eta(x, y));$$

(iii) η -strongly accretive, if there exists a constant $\beta_1 > 0$ such that

$$\langle Ax - Ay, j(\eta(x, y)) \rangle \geq \beta_1 \|x - y\|^2, \quad \forall x, y \in X, j(\eta(x, y)) \in J(\eta(x, y));$$

(iv) η -relaxed cocoercive, if there exists a constant $\gamma_1 > 0$ such that

$$\langle Ax - Ay, j(\eta(x, y)) \rangle \geq (-\gamma_1) \|Ax - Ay\|^2, \quad \forall x, y \in X, j(\eta(x, y)) \in J(\eta(x, y));$$

(v) Lipschitz continuous, if there exists a constant $\lambda_A > 0$ such that

$$\|Ax - Ay\| \leq \lambda_A \|x - y\|, \quad \forall x, y \in X;$$

(vi) α -expansive, if there exists a constant $\alpha > 0$ such that

$$\|Ax - Ay\| \geq \alpha \|x - y\|, \quad \forall x, y \in X;$$

(vii) η is said to be Lipschitz continuous, if there exists a constant $\tau > 0$ such that

$$\|\eta(x, y)\| \leq \tau \|x - y\|, \quad \forall x, y \in X.$$

If $X = H$, a Hilbert space, then definitions (i) to (iv) reduce to the definitions of η -cocoercive, η -monotone, η -strongly monotone and η -relaxed cocoercive, respectively, introduced by Ansari and Yao [3].

If in addition, $\eta(x, y) = x - y$, for all $x, y \in X$, then definitions (i) to (iv) reduce to the definitions of cocoercivity [14], monotonicity, strong monotonicity [15] and relaxed cocoercive, respectively.

Definition 2.4 Let $A, B : X \rightarrow X$, $H : X \times X \rightarrow X$, $\eta : X \times X \rightarrow X$ be three single-valued mappings and $J : X \rightarrow 2^{X^*}$ be a normalized duality mapping. Then

(i) $H(A, \cdot)$ is said to be η -cocoercive with respect to A , if there exists a constant $\mu > 0$ such that

$$\langle H(Ax, u) - H(Ay, u), j(\eta(x, y)) \rangle \geq \mu \|Ax - Ay\|^2,$$

$$\forall x, y \in X, j(\eta(x, y)) \in J(\eta(x, y));$$

(ii) $H(\cdot, B)$ is said to be η -relaxed cocoercive with respect to B , if there exists a constant $\gamma > 0$ such that

$$\langle H(u, Bx) - H(u, By), j(\eta(x, y)) \rangle \geq (-\gamma) \|Bx - By\|^2,$$

$$\forall x, y \in X, j(\eta(x, y)) \in J(\eta(x, y));$$

(iii) $H(A, \cdot)$ is said to be r_1 -Lipschitz continuous with respect to A , if there exists a constant $r_1 > 0$ such that

$$\|H(Ax, u) - H(Ay, u)\| \leq r_1 \|x - y\|, \quad \forall x, y \in X;$$

(iv) $H(\cdot, B)$ is said to be r_2 -Lipschitz continuous with respect to B , if there exists a constant $r_2 > 0$ such that

$$\|H(u, Bx) - H(u, By)\| \leq r_2 \|x - y\|, \quad \forall x, y \in X.$$

Definition 2.5 A set-valued mapping $M : X \rightarrow 2^X$ is said to be η -cocoercive, if there exists a constant $\mu_2 > 0$ such that

$$\langle u - v, j(\eta(x, y)) \rangle \geq \mu_2 \|u - v\|^2, \quad \forall x, y \in X, u \in Mx, v \in My, j(\eta(x, y)) \in J(\eta(x, y)).$$

Definition 2.6 A mapping $T : X \rightarrow CB(X)$ is said to be \mathcal{D} -Lipschitz continuous, if there exists a constant $\lambda_T > 0$ such that

$$\mathcal{D}(Tx, Ty) \leq \lambda_T \|x - y\|, \quad \forall x, y \in X.$$

Definition 2.7 Let $T, Q : X \rightarrow CB(X)$ be the mappings. A mapping $N : X \times X \rightarrow X$ is said to be

- (i) Lipschitz continuous in the first argument with respect to T , if there exists a constant $t_1 > 0$ such that

$$\|N(w_1, \cdot) - N(w_2, \cdot)\| \leq t_1 \|w_1 - w_2\|, \quad \forall u_1, u_2 \in X, w_1 \in T(u_1), w_2 \in T(u_2);$$

- (ii) Lipschitz continuous in the second argument with respect to Q , if there exists a constant $t_2 > 0$ such that

$$\|N(\cdot, v_1) - N(\cdot, v_2)\| \leq t_2 \|v_1 - v_2\|, \quad \forall u_1, u_2 \in X, v_1 \in Q(u_1), v_2 \in Q(u_2);$$

- (iii) η -relaxed Lipschitz in the first argument with respect to T , if there exists a constant $\tau_1 > 0$ such that

$$\langle N(w_1, \cdot) - N(w_2, \cdot), j(\eta(u_1, u_2)) \rangle \leq -\tau_1 \|u_1 - u_2\|^2,$$

$$\forall u_1, u_2 \in X, w_1 \in T(u_1), w_2 \in T(u_2), j(\eta(u_1, u_2)) \in J(\eta(u_1, u_2));$$

- (iv) η -relaxed Lipschitz in the second argument with respect to Q , if there exists a constant $\tau_2 > 0$ such that

$$\langle N(\cdot, v_1) - N(\cdot, v_2), j(\eta(u_1, u_2)) \rangle \leq -\tau_2 \|u_1 - u_2\|^2,$$

$$\forall u_1, u_2 \in X, v_1 \in Q(u_1), v_2 \in Q(u_2), j(\eta(u_1, u_2)) \in J(\eta(u_1, u_2)).$$

3 $H(\cdot, \cdot)$ - η -cocoercive operator

In this section, we define a new $H(\cdot, \cdot)$ - η -cocoercive operator and show some of its properties.

Definition 3.1 Let $A, B : X \rightarrow X$, $H : X \times X \rightarrow X$, $\eta : X \times X \rightarrow X$ be four single-valued mappings. Let $M : X \rightarrow 2^X$ be a set-valued mapping. M is said to be $H(\cdot, \cdot)$ - η -cocoercive operator with respect to A and B , if M is η -cocoercive and $(H(A, B) + \lambda M)(X) = X$, for every $\lambda > 0$.

Example 3.1 Let $X = \mathbb{R}$ and $A, B : \mathbb{R} \rightarrow \mathbb{R}$ be defined by

$$A(x) = x^3 \quad \text{and} \quad B(x) = \sin x, \quad \forall x \in \mathbb{R}.$$

Let $H(A, B), \eta : \mathbb{R} \times \mathbb{R} \rightarrow \mathbb{R}$ be defined by $H(Ax, Bx) = A(x) - B(x)$, $\forall x \in \mathbb{R}$ and

$$\eta(x, y) = \begin{cases} (x - y), & \text{if } |xy| < \frac{1}{3}, \\ e^{|xy|}(x - y), & \text{if } \frac{1}{3} \leq |xy| < \frac{1}{2}, \\ 2(x - y), & \text{if } \frac{1}{2} \leq |xy|. \end{cases}$$

Let $M : \mathbb{R} \rightarrow 2^{\mathbb{R}}$ be a set-valued mapping defined by

$$M(x) = \left\{ x, \frac{x}{2}, \frac{x}{3}, \dots, \frac{x}{n} \right\}, \quad \text{for any fixed natural number } n.$$

Then

$$(i) \quad \langle u - v, \eta(x, y) \rangle \geq 2n \|u - v\|^2, \quad \forall x, y \in \mathbb{R}, u \in M(x), v \in M(y).$$

$$(ii) \quad (H(A, B) + \lambda M)(\mathbb{R}) = \mathbb{R}.$$

Thus M is $H(\cdot, \cdot)$ - η -cocoercive with respect to A and B .

Now, we show that the mapping M need not be $H(\cdot, \cdot)$ - η -cocoercive with respect to A and B .

Let $X = C[0, 1]$ be space of all real valued continuous functions defined over closed interval $[0, 1]$ with the norm

$$\|f\| = \max_{t \in [0, 1]} |f(t)|.$$

Let $A, B : X \rightarrow X$ be defined by

$$A(f) = e^f \quad \text{and} \quad B(g) = e^{-g}, \quad \forall f, g \in X.$$

Let $H(A, B) : X \times X \rightarrow X$ be defined as

$$H(A(f), B(g)) = A(f) + B(g), \quad \forall f, g \in X.$$

Suppose that $M = I$, where I is the identity mapping. Then for $\lambda = 1$, we have

$$\|(H(A, B) + M)(f)\| = \|A(f) + B(f) + f\| = \max_{t \in [0, 1]} |e^{f(t)} + e^{-f(t)} + f(t)| > 0,$$

which means that $0 \notin (H(A, B) + M)(X)$ and thus M is not $H(\cdot, \cdot)$ - η -cocoercive with respect to A and B .

Proposition 3.1 *Let $H(A, B)$ be η -cocoercive with respect to A with constant $\mu > 0$ and η -relaxed cocoercive with respect to B with constant $\gamma > 0$, A is α -expansive and B is β -Lipschitz continuous and $\mu > \gamma$, $\alpha > \beta$. Let $M : X \rightarrow 2^X$ be $H(\cdot, \cdot)$ - η -cocoercive operator. If the following inequality*

$$\langle x - y, j(\eta(u, v)) \rangle \geq 0$$

$$\text{holds for all } (v, y) \in \text{Graph}(M), j(\eta(u, v)) \in J(\eta(u, v)),$$

then $x \in Mu$, where $\text{Graph}(M) = \{(u, x) \in X \times X : x \in Mu\}$.

Proof Suppose that there exists some (u_0, x_0) such that

$$\langle x_0 - y, j(\eta(u_0, v)) \rangle \geq 0 \quad \text{holds for all } (v, y) \in \text{Graph}(M). \quad (3.1)$$

Since M is $H(\cdot, \cdot)$ - η -cocoercive with respect to A and B , we know that $(H(A, B) + \lambda M)(X) = X$ holds for every $\lambda > 0$ and so there exists $(u_1, x_1) \in \text{Graph}(M)$ such that

$$H(Au_1, Bu_1) + \lambda x_1 = H(Au_0, Bu_0) + \lambda x_0 \in X. \quad (3.2)$$

It follows from (3.1) and (3.2) that

$$\begin{aligned}
 0 &\leq \langle \lambda x_0 + H(Au_0, Bu_0) - \lambda x_1 - H(Au_1, Bu_1), j(\eta(u_0, u_1)) \rangle, \\
 0 &\leq \lambda \langle x_0 - x_1, j(\eta(u_0, u_1)) \rangle = -\langle H(Au_0, Bu_0) - H(Au_1, Bu_1), j(\eta(u_0, u_1)) \rangle \\
 &= -\langle H(Au_0, Bu_0) - H(Au_1, Bu_0), j(\eta(u_0, u_1)) \rangle \\
 &\quad - \langle H(Au_1, Bu_0) - H(Au_1, Bu_1), j(\eta(u_0, u_1)) \rangle \\
 &\leq -\mu \|Au_0 - Au_1\|^2 + \gamma \|Bu_0 - Bu_1\|^2 \\
 &\leq -\mu \alpha^2 \|u_0 - u_1\|^2 + \gamma \beta^2 \|u_0 - u_1\|^2 \\
 &= -(\mu \alpha^2 - \gamma \beta^2) \|u_0 - u_1\|^2 \leq 0,
 \end{aligned}$$

which gives $u_1 = u_0$, since $\mu > \gamma$ and $\alpha > \beta$. By (3.2), we have $x_1 = x_0$. Hence $(u_0, x_0) = (u_1, x_1) \in \text{Graph}(M)$ and so $x_0 \in Mu_0$. \square

Theorem 3.1 Let $H(A, B)$ be η -cocoercive with respect to A with constant $\mu > 0$ and η -relaxed cocoercive with respect to B with constant $\gamma > 0$, A is α -expansive and B is β -Lipschitz continuous, $\mu > \gamma$ and $\alpha > \beta$. Let M be an $H(\cdot, \cdot)$ - η -cocoercive operator with respect to A and B . Then the operator $(H(A, B) + \lambda M)^{-1}$ is single-valued.

Proof For any given $u \in X$, let $x, y \in (H(A, B) + \lambda M)^{-1}(u)$. It follows that

$$\begin{aligned}
 -H(Ax, Bx) + u &\in \lambda Mx \quad \text{and} \\
 -H(Ay, By) + u &\in \lambda My.
 \end{aligned}$$

As M is η -cocoercive (thus η -accretive), we have

$$\begin{aligned}
 0 &\leq \langle -H(Ax, Bx) + u - (-H(Ay, By) + u), j(\eta(x, y)) \rangle \\
 &= -\langle H(Ax, Bx) - H(Ay, By), j(\eta(x, y)) \rangle \\
 &= -\langle H(Ax, Bx) - H(Ay, Bx) + H(Ay, Bx) - H(Ay, By), j(\eta(x, y)) \rangle \\
 &= -\langle H(Ax, Bx) - H(Ay, Bx), j(\eta(x, y)) \rangle \\
 &\quad - \langle H(Ay, Bx) - H(Ay, By), j(\eta(x, y)) \rangle.
 \end{aligned} \tag{3.3}$$

Since H is η -cocoercive with respect to A with constant μ and η -relaxed cocoercive with respect to B with constant γ , A is α -expansive and B is β -Lipschitz continuous, thus (3.3) becomes

$$0 \leq -\mu \alpha^2 \|x - y\|^2 + \gamma \beta^2 \|x - y\|^2 = -(\mu \alpha^2 - \gamma \beta^2) \|x - y\|^2 \leq 0, \tag{3.4}$$

since $\mu > \gamma$ and $\alpha > \beta$. Thus, we have $x = y$ and so $(H(A, B) + \lambda M)^{-1}$ is single-valued. \square

Definition 3.2 Let $H(A, B)$ be η -cocoercive with respect to A with constant $\mu > 0$ and η -relaxed cocoercive with respect to B with constant $\gamma > 0$, A is α -expansive and B is

β -Lipschitz continuous, $\mu > \gamma$ and $\alpha > \beta$. Let M be $H(\cdot, \cdot)$ - η -cocoercive operator with respect to A and B . Then the resolvent operator $R_{\lambda, M}^{H(\cdot, \cdot)-\eta} : X \rightarrow X$ is defined by

$$R_{\lambda, M}^{H(\cdot, \cdot)-\eta}(u) = (H(A, B) + \lambda M)^{-1}(u), \quad \forall u \in X. \quad (3.5)$$

Now, we show the Lipschitz continuity of the resolvent operator defined by (3.5) and calculate its Lipschitz constant.

Theorem 3.2 *Let $H(A, B)$ be η -cocoercive with respect to A with constant $\mu > 0$ and η -relaxed cocoercive with respect to B with constant $\gamma > 0$, A is α -expansive, B is β -Lipschitz continuous and η is τ -Lipschitz continuous and $\mu > \gamma, \alpha > \beta$. Let M be an $H(\cdot, \cdot)$ - η -cocoercive operator with respect to A and B . Then the resolvent operator $R_{\lambda, M}^{H(\cdot, \cdot)-\eta} : X \rightarrow X$ is $\frac{\tau}{\mu\alpha^2 - \gamma\beta^2}$ -Lipschitz continuous, that is*

$$\|R_{\lambda, M}^{H(\cdot, \cdot)-\eta}(u) - R_{\lambda, M}^{H(\cdot, \cdot)-\eta}(v)\| \leq \frac{\tau}{\mu\alpha^2 - \gamma\beta^2} \|u - v\|, \quad \forall u, v \in X.$$

Proof Let u and v be any given points in X . It follows from (3.5) that

$$\begin{aligned} R_{\lambda, M}^{H(\cdot, \cdot)-\eta}(u) &= (H(A, B) + \lambda M)^{-1}(u), \quad \text{and} \\ R_{\lambda, M}^{H(\cdot, \cdot)-\eta}(v) &= (H(A, B) + \lambda M)^{-1}(v). \end{aligned}$$

This implies that

$$\begin{aligned} \frac{1}{\lambda} (u - H(A(R_{\lambda, M}^{H(\cdot, \cdot)-\eta}(u)), B(R_{\lambda, M}^{H(\cdot, \cdot)-\eta}(u)))) &\in M(R_{\lambda, M}^{H(\cdot, \cdot)-\eta}(u)), \quad \text{and} \\ \frac{1}{\lambda} (v - H(A(R_{\lambda, M}^{H(\cdot, \cdot)-\eta}(v)), B(R_{\lambda, M}^{H(\cdot, \cdot)-\eta}(v)))) &\in M(R_{\lambda, M}^{H(\cdot, \cdot)-\eta}(v)). \end{aligned}$$

For the sake of convenience, we take

$$Pu = R_{\lambda, M}^{H(\cdot, \cdot)-\eta}(u) \quad \text{and} \quad Pv = R_{\lambda, M}^{H(\cdot, \cdot)-\eta}(v).$$

Since M is η -cocoercive (thus η -accretive), we have

$$\begin{aligned} \frac{1}{\lambda} \langle u - H(A(Pu), B(Pu)) - (v - H(A(Pv), B(Pv))), j(\eta(Pu, Pv)) \rangle &\geq 0, \\ = \frac{1}{\lambda} \langle u - v - (H(A(Pu), B(Pu)) - H(A(Pv), B(Pv))), j(\eta(Pu, Pv)) \rangle &\geq 0, \end{aligned}$$

which implies that

$$\langle u - v, j(\eta(Pu, Pv)) \rangle \geq \langle H(A(Pu), B(Pu)) - H(A(Pv), B(Pv)), j(\eta(Pu, Pv)) \rangle.$$

It follows that

$$\begin{aligned} \|u - v\| \|\eta(Pu, Pv)\| &\geq \langle u - v, j(\eta(Pu, Pv)) \rangle \\ &\geq \langle H(A(Pu), B(Pu)) - H(A(Pv), B(Pv)), j(\eta(Pu, Pv)) \rangle \end{aligned}$$

$$\begin{aligned}
 &= \langle H(A(Pu), B(Pu)) - H(A(Pv), B(Pv)), j(\eta(Pu, Pv)) \rangle \\
 &\quad + \langle H(A(Pv), B(Pu)) - H(A(Pv), B(Pv)), j(\eta(Pu, Pv)) \rangle \\
 &= \langle H(A(Pu), B(Pu)) - H(A(Pv), B(Pu)), j(\eta(Pu, Pv)) \rangle \\
 &\quad + \langle H(A(Pv), B(Pu)) - H(A(Pv), B(Pv)), j(\eta(Pu, Pv)) \rangle \\
 &\geq \mu \|A(Pu) - A(Pv)\|^2 - \gamma \|B(Pu) - B(Pv)\|^2 \\
 &\geq \mu \alpha^2 \|Pu - Pv\|^2 - \gamma \beta^2 \|Pu - Pv\|^2
 \end{aligned}$$

and so

$$\|u - v\| \|\eta(Pu, Pv)\| \geq (\mu \alpha^2 - \gamma \beta^2) \|Pu - Pv\|^2$$

i.e.

$$\begin{aligned}
 (\mu \alpha^2 - \gamma \beta^2) \|Pu - Pv\|^2 &\leq \|u - v\| \|\eta(Pu, Pv)\| \leq \tau \|u - v\| \|Pu - Pv\| \\
 \|Pu - Pv\| &\leq \frac{\tau}{\mu \alpha^2 - \gamma \beta^2} \|u - v\|, \quad \forall u, v \in X,
 \end{aligned}$$

i.e.

$$\|R_{\lambda, M}^{H(\cdot, \cdot) - \eta}(u) - R_{\lambda, M}^{H(\cdot, \cdot) - \eta}(v)\| \leq \frac{\tau}{\mu \alpha^2 - \gamma \beta^2} \|u - v\|, \quad \forall u, v \in X.$$

This completes the proof. \square

4 Existence result for generalized set-valued variational-like inclusion problem

In this section, we apply $H(\cdot, \cdot)$ - η -cocoercive operators to find a solution of generalized set-valued variational-like inclusion problem.

Let $N : X \times X \rightarrow X$, $\eta : X \times X \rightarrow X$, $H : X \times X \rightarrow X$, $A, B : X \rightarrow X$ be the single-valued mappings and $T, Q : X \rightarrow CB(X)$, $M : X \rightarrow 2^X$ be the set-valued mappings such that M is $H(\cdot, \cdot)$ - η -cocoercive with respect to A and B . Then we consider the following problem. Find $u \in X$, $w \in T(u)$, $v \in Q(u)$ such that

$$0 \in N(w, v) + M(u). \quad (4.1)$$

We call problem (4.1), a generalized set-valued variational-like inclusion problem.

Let X be a Hilbert space. If $Q \equiv 0$ and $\eta(u, v) = u - v$, $\forall u, v \in X$ and $N(\cdot, \cdot) = T(\cdot)$, where $T : X \rightarrow CB(X)$ be a set-valued mapping. Then problem (4.1) reduces to the problem of finding $u \in X$, $w \in T(u)$ such that

$$0 \in w + M(u). \quad (4.2)$$

A problem similar to (4.2) is studied by Ahmad *et al.* [12] by applying $H(\cdot, \cdot)$ -cocoercive operators.

If $H(\cdot, \cdot) = H(\cdot)$ and M is H -accretive mapping, then problem (4.1) is introduced and studied by Chang *et al.* [5]. It is clear that for suitable choices of operators involved in the formulation of (4.1), one can obtain many variational inclusions studied in literature.

Lemma 4.1 *The (u, w, v) , where $u \in X$, $w \in T(u)$, $v \in Q(u)$ is a solution of problem (4.1) if and only if (u, w, v) is a solution of the following equation*

$$u = R_{\lambda, M}^{H(\cdot, \cdot) - \eta} [H(A(u), B(u)) - \lambda N(w, v)], \quad (4.3)$$

where $\lambda > 0$ is a constant.

Proof Proof is straightforward by the use of definition of resolvent operator. \square

Based on Lemma 4.1, we define the following algorithm for approximating a solution of generalized set-valued variational-like inclusion problem (4.1).

Algorithm 4.1 For any $u_0 \in X$, $w_0 \in T(u_0)$, $v_0 \in Q(u_0)$, compute the sequences $\{u_n\}$, $\{w_n\}$, and $\{v_n\}$ by the following iterative scheme:

$$u_{n+1} = R_{\lambda, M}^{H(\cdot, \cdot) - \eta} [H(A(u_n), B(u_n)) - \lambda N(w_n, v_n)], \quad (4.4)$$

$$w_n \in T(u_n), \|w_n - w_{n+1}\| \leq \mathcal{D}(T(u_n), T(u_{n+1})), \quad (4.5)$$

$$v_n \in Q(u_n), \|v_n - v_{n+1}\| \leq \mathcal{D}(Q(u_n), Q(u_{n+1})), \quad (4.6)$$

for all $n = 0, 1, 2, \dots$ and $\lambda > 0$ is a constant.

Theorem 4.1 *Let X be a real Banach space. Let $A, B : X \rightarrow X$, $H : X \times X \rightarrow X$, $N : X \times X \rightarrow X$, $\eta : X \times X \rightarrow X$ be the single-valued mappings. Suppose that $T, Q : X \rightarrow CB(X)$ and $M : X \rightarrow 2^X$ are set-valued mappings such that M is $H(\cdot, \cdot)$ - η -cocoercive operator with respect to A and B . Let*

- (i) T is \mathcal{D} -Lipschitz continuous with constant λ_T and Q is \mathcal{D} -Lipschitz continuous with constant λ_Q ;
- (ii) $H(A, B)$ is η -cocoercive with respect to A with constant $\mu > 0$ and η -relaxed cocoercive with respect to B with constant $\gamma > 0$;
- (iii) A is α -expansive and B is β -Lipschitz continuous;
- (iv) $H(A, B)$ is r_1 -Lipschitz continuous with respect to A and r_2 -Lipschitz continuous with respect to B ;
- (v) N is t_1 -Lipschitz continuous with respect to T in the first argument and t_2 -Lipschitz continuous with respect to Q in the second argument;
- (vi) η is τ -Lipschitz continuous;
- (vii) N is η -relaxed Lipschitz continuous with respect to T in the first argument and η -relaxed Lipschitz continuous with respect to Q in the second argument with constants τ_1 and τ_2 , respectively.

Suppose that the following condition is satisfied:

$$\sqrt{r_1^2 - 2\lambda(t_1\lambda_T + t_2\lambda_Q)[r_1 + \lambda(t_1\lambda_T + t_2\lambda_Q) + \tau] - 2\lambda(\tau_1 + \tau_2)} < \frac{\mu\alpha^2 - \gamma\beta^2}{\tau} - r^2, \quad (4.7)$$

$$\mu\alpha^2 - \gamma\beta^2 > \tau r^2, \mu > \gamma, \alpha > \beta.$$

Then there exist $u \in X$, $w \in T(u)$ and $v \in Q(u)$ satisfying the generalized set-valued variational-like inclusion problem (4.1) and the iterative sequences $\{u_n\}$, $\{w_n\}$ and $\{v_n\}$ generated by Algorithm 4.1 converge strongly to u , w and v , respectively.

Proof Since T is \mathcal{D} -Lipschitz continuous with constant λ_T and Q is \mathcal{D} -Lipschitz continuous with constant λ_Q , it follows from Algorithm 4.1 that

$$\|w_n - w_{n+1}\| \leq \mathcal{D}(T(u_n), T(u_{n+1})) \leq \lambda_T \|u_n - u_{n+1}\|, \quad \text{and} \quad (4.8)$$

$$\|v_n - v_{n+1}\| \leq \mathcal{D}(Q(u_n), Q(u_{n+1})) \leq \lambda_Q \|u_n - u_{n+1}\|. \quad (4.9)$$

By using Algorithm 4.1 and Lipschitz continuity of resolvent operator $R_{\lambda, M}^{H(\cdot, \cdot) - \eta}$, we have

$$\begin{aligned} \|u_{n+1} - u_n\| &= \|R_{\lambda, M}^{H(\cdot, \cdot) - \eta} [H(Au_n, Bu_n) - \lambda N(w_n, v_n)] \\ &\quad - R_{\lambda, M}^{H(\cdot, \cdot) - \eta} [H(Au_{n-1}, Bu_{n-1}) - \lambda N(w_{n-1}, v_{n-1})]\| \\ &\leq \frac{\tau}{\mu\alpha^2 - \gamma\beta^2} \|H(Au_n, Bu_n) - H(Au_{n-1}, Bu_{n-1}) \\ &\quad - \lambda [N(w_n, v_n) - N(w_{n-1}, v_{n-1})]\| \\ &\leq \frac{\tau}{\mu\alpha^2 - \gamma\beta^2} \|H(Au_n, Bu_n) - H(Au_{n-1}, Bu_n) \\ &\quad - \lambda [N(w_n, v_n) - N(w_{n-1}, v_{n-1})]\| \\ &\quad + \frac{\tau}{\mu\alpha^2 - \gamma\beta^2} \|H(Au_{n-1}, Bu_n) - H(Au_{n-1}, Bu_{n-1})\|. \end{aligned} \quad (4.10)$$

Using Lemma 2.1, we have

$$\begin{aligned} &\|H(Au_n, Bu_n) - H(Au_{n-1}, Bu_n) - \lambda [N(w_n, v_n) - N(w_{n-1}, v_{n-1})]\|^2 \\ &\leq \|H(Au_n, Bu_n) - H(Au_{n-1}, Bu_n)\|^2 - 2\lambda \langle N(w_n, v_n) - N(w_{n-1}, v_{n-1}), \\ &\quad j[H(Au_n, Bu_n) - H(Au_{n-1}, Bu_n) - \lambda (N(w_n, v_n) - N(w_{n-1}, v_{n-1}))] \rangle \\ &= \|H(Au_n, Bu_n) - H(Au_{n-1}, Bu_n)\|^2 - 2\lambda \langle N(w_n, v_n) - N(w_{n-1}, v_{n-1}), \\ &\quad j[H(Au_n, Bu_n) - H(Au_{n-1}, Bu_n) - \lambda (N(w_n, v_n) - N(w_{n-1}, v_{n-1}))] \\ &\quad + j(\eta(u_n, u_{n-1})) \rangle + 2\lambda \langle N(w_n, v_n) - N(w_{n-1}, v_{n-1}), j(\eta(u_n, u_{n-1})) \rangle \\ &\leq \|H(Au_n, Bu_n) - H(Au_{n-1}, Bu_n)\|^2 - 2\lambda \|N(w_n, v_n) - N(w_{n-1}, v_{n-1})\| \\ &\quad \times \|H(Au_n, Bu_n) - H(Au_{n-1}, Bu_n)\| + \lambda \|N(w_n, v_n) - N(w_{n-1}, v_{n-1})\| \\ &\quad + \|\eta(u_n, u_{n-1})\| + 2\lambda \langle N(w_n, v_n) - N(w_{n-1}, v_{n-1}), j(\eta(u_n, u_{n-1})) \rangle. \end{aligned} \quad (4.11)$$

As $H(\cdot, \cdot)$ is r_1 -Lipschitz continuous with respect to A , we have

$$\|H(Au_n, Bu_n) - H(Au_{n-1}, Bu_n)\| \leq r_1 \|u_n - u_{n-1}\|. \quad (4.12)$$

Since N is t_1 -Lipschitz continuous with respect to T in the first argument and t_2 -Lipschitz continuous with respect to Q in the second argument and T is λ_T -Lipschitz continuous and Q is λ_Q -Lipschitz continuous, we have

$$\begin{aligned} \|N(w_n, v_n) - N(w_{n-1}, v_{n-1})\| &= \|N(w_n, v_n) - N(w_{n-1}, v_n) \\ &\quad + N(w_{n-1}, v_n) - N(w_{n-1}, v_{n-1})\| \end{aligned}$$

$$\begin{aligned}
 &\leq \|N(w_n, v_n) - N(w_{n-1}, v_n)\| \\
 &\quad + \|N(w_{n-1}, v_n) - N(w_{n-1}, v_{n-1})\| \\
 &\leq t_1 \|w_n - w_{n-1}\| + t_2 \|v_n - v_{n-1}\| \\
 &\leq t_1 \mathcal{D}(T(u_n), T(u_{n-1})) + t_2 \mathcal{D}(Q(u_n), Q(u_{n-1})) \\
 &\leq t_1 \lambda_T \|u_n - u_{n-1}\| + t_2 \lambda_Q \|u_n - u_{n-1}\| \\
 &= (t_1 \lambda_T + t_2 \lambda_Q) \|u_n - u_{n-1}\|.
 \end{aligned} \tag{4.13}$$

As η is τ -Lipschitz continuous, we have

$$\|\eta(u_n, u_{n-1})\| \leq \tau \|u_n - u_{n-1}\|. \tag{4.14}$$

Since N is η -relaxed Lipschitz continuous with respect to T and η -relaxed Lipschitz continuous with respect to Q in first and second arguments with constants τ_1 and τ_2 , respectively, we have

$$\begin{aligned}
 &\langle N(w_n, v_n) - N(w_{n-1}, v_{n-1}), j(\eta(u_n, u_{n-1})) \rangle \\
 &= \langle N(w_n, v_n) - N(w_{n-1}, v_n), j(\eta(u_n, u_{n-1})) \rangle \\
 &\quad + \langle N(w_{n-1}, v_n) - N(w_{n-1}, v_{n-1}), j(\eta(u_n, u_{n-1})) \rangle \\
 &\leq -\tau_1 \|u_n - u_{n-1}\|^2 - \tau_2 \|u_n - u_{n-1}\|^2 \\
 &\leq -(\tau_1 + \tau_2) \|u_n - u_{n-1}\|^2.
 \end{aligned} \tag{4.15}$$

Using (4.12)-(4.15), (4.11) becomes

$$\begin{aligned}
 &\|H(Au_n, Bu_n) - H(Au_{n-1}, Bu_{n-1}) - \lambda [N(w_n, v_n) - N(w_{n-1}, v_{n-1})]\|^2 \\
 &\leq r_1^2 \|u_n - u_{n-1}\|^2 - 2\lambda(t_1 \lambda_T + t_2 \lambda_Q) \|u_n - u_{n-1}\| \\
 &\quad \times [r_1 \|u_n - u_{n-1}\| + \lambda(t_1 \lambda_T + t_2 \lambda_Q) \|u_n - u_{n-1}\| + \tau \|u_n - u_{n-1}\|] \\
 &\quad + 2\lambda(-(\tau_1 + \tau_2)) \|u_n - u_{n-1}\|^2 \\
 &= r_1^2 \|u_n - u_{n-1}\|^2 - 2\lambda(t_1 \lambda_T + t_2 \lambda_Q) \|u_n - u_{n-1}\| \\
 &\quad \times [r_1 + \lambda(t_1 \lambda_T + t_2 \lambda_Q) + \tau] \|u_n - u_{n-1}\| - 2\lambda(\tau_1 + \tau_2) \|u_n - u_{n-1}\|^2 \\
 &= r_1^2 \|u_n - u_{n-1}\|^2 - 2\lambda(t_1 \lambda_T + t_2 \lambda_Q) [r_1 + \lambda(t_1 \lambda_T + t_2 \lambda_Q) + \tau] \\
 &\quad \times \|u_n - u_{n-1}\|^2 - 2\lambda(\tau_1 + \tau_2) \|u_n - u_{n-1}\|^2 \\
 &= [r_1^2 - 2\lambda(t_1 \lambda_T + t_2 \lambda_Q) [r_1 + \lambda(t_1 \lambda_T + t_2 \lambda_Q) + \tau] - 2\lambda(\tau_1 + \tau_2)] \|u_n - u_{n-1}\|^2.
 \end{aligned} \tag{4.16}$$

Using r_2 -Lipschitz continuity of $H(\cdot, \cdot)$ with respect to B and (4.16), (4.10) becomes

$$\|u_{n+1} - u_n\| \leq \theta \|u_n - u_{n-1}\|, \tag{4.17}$$

where

$$\theta = \frac{\tau}{\mu\alpha^2 - \gamma\beta^2} \sqrt{\theta_1} + \frac{\tau r_2}{\mu\alpha^2 - \gamma\beta^2}$$

and

$$\theta_1 = [r_1^2 - 2\lambda(t_1\lambda_T + t_2\lambda_Q)[r_1 + \lambda(t_1\lambda_T + t_2\lambda_Q) + \tau] - 2\lambda(\tau_1 + \tau_2)]. \quad (4.18)$$

From (4.7), it follows that $\theta < 1$, so $\{u_n\}$ is a Cauchy sequence in X , thus there exists a $u \in X$ such that $u_n \rightarrow u$ as $n \rightarrow \infty$. Also from (4.8) and (4.9), it follows that $\{w_n\}$ and $\{v_n\}$ are also Cauchy sequences in X , thus there exist w and v in X such that $w_n \rightarrow w$, $v_n \rightarrow v$ as $n \rightarrow \infty$. By the continuity of $R_{\lambda,M}^{H(\cdot,\cdot)-\eta}$, H , A , B , η , N , T and Q and from (4.4) of Algorithm 4.1, it follows that

$$u_{n+1} = R_{\lambda,M}^{H(\cdot,\cdot)-\eta} [H(A(u_n), B(u_n)) - \lambda N(w_n, v_n)] \quad (4.19)$$

$$\rightarrow u = R_{\lambda,M}^{H(\cdot,\cdot)-\eta} [H(A(u), B(u)) - \lambda N(w, v)] \quad (n \rightarrow \infty). \quad (4.20)$$

Now, we prove that $w \in T(u)$. In fact, since $w_n \in T(u_n)$, we have

$$\begin{aligned} d(w, T(u)) &\leq \|w - w_n\| + d(w_n, T(u)) \\ &\leq \|w - w_n\| + \mathcal{D}(T(u_n), T(u)) \\ &\leq \|w - w_n\| + \lambda_T \|u_n - u\| \rightarrow 0, \quad \text{as } n \rightarrow \infty, \end{aligned}$$

which means that $d(w, T(u)) = 0$. Since $T(u) \in CB(X)$, it follows that $w \in T(u)$. Similarly, we can show that $v \in Q(u)$. By Lemma 4.1, we conclude that (u, w, v) is a solution of generalized set-valued variational-like inclusion problem (4.1). This completes the proof. \square

From Theorem 4.1, we can obtain the following theorem which is similar to the Theorem 4.3 of Ahmad *et al.* [12].

Theorem 4.2 *Let X be a Hilbert space. Let A , B , H and T be the same as in Theorem 4.1 and $M : X \rightarrow 2^X$ be the set-valued, $H(\cdot, \cdot)$ -cocoercive mapping with respect to A and B . Assume that*

- (i) T is \mathcal{D} -Lipschitz continuous with constant λ_T ;
- (ii) $H(A, B)$ is cocoercive with respect to A with constant $\mu > 0$ and relaxed cocoercive with respect to B with constant $\gamma > 0$;
- (iii) A is α -expansive;
- (iv) B is β -Lipschitz continuous;
- (v) $H(A, B)$ is r_1 -Lipschitz continuous with respect to A and r_2 -Lipschitz continuous with respect to B ;
- (vi) $(r_1 + r_2) < [(\mu\alpha^2 - \gamma\beta^2) - \lambda]$; $\mu > \gamma$, $\alpha > \beta$.

Then the problem (4.2) admits a solution (u, w) with $u \in X$ and $w \in T(u)$ and the iterative sequences $\{u_n\}$ and $\{w_n\}$ converge strongly to u and w , respectively.

Competing interests

The authors did not provide this information.

Authors' contributions

The authors did not provide this information.

Author details

¹Department of Mathematics, Aligarh Muslim University, Aligarh, 202002, India. ²Department of Applied Mathematics, Chung Yuan Christain University, Chung Li, 32023, Taiwan. ³Center for General Education, Kaohsiung Medical University, Kaohsiung, 807, Taiwan. ⁴Department of Applied Mathematics, National Sun-Yat Sen University, Kaohsiung, 804, Taiwan.

Acknowledgements

The first author is supported by the Department of Science and Technology, Government of India under grant no. SR/S4/MS: 577/09. The fourth author is supported by Grant no. NSC 99-2221-E-037-007-MY3.

Received: 9 August 2011 Accepted: 8 May 2012 Published: 28 June 2012

References

1. Adly, S: Perturbed algorithm and sensitivity analysis for a general class of variational inclusions. *J. Math. Anal. Appl.* **201**, 609-630 (1996)
2. Ahmad, R, Ansari, QH: An iterative algorithm for generalized nonlinear variational inclusions. *Appl. Math. Lett.* **13**, 23-26 (2000)
3. Ansari, QH, Yao, JC: Iterative schemes for solving mixed variational-like inequalities. *J. Optim. Theory Appl.* **108**(3), 527-541 (2001)
4. Chang, SS: Existence and approximation of solution of set-valued variational inclusions in Banach spaces. *Nonlinear Anal.* **47**, 583-594 (2001)
5. Chang, SS, Cho, YJ, Lee, BS, Jung, IH: Generalized set-valued variational inclusions in Banach spaces. *J. Math. Anal. Appl.* **246**, 409-422 (2000)
6. Chang, SS, Kim, JK, Kim, KH: On the existence and iterative approximation problems of solutions for set-valued variational inclusions in Banach spaces. *J. Math. Anal. Appl.* **268**, 89-108 (2002)
7. Hassouni, A, Moudafi, A: A perturbed algorithm for variational inclusions. *J. Math. Anal. Appl.* **185**, 706-712 (1994)
8. Fang, YP, Huang, NJ: H -monotone operators and systems of variational inclusions. *Commun. Appl. Nonlinear Anal.* **11**(1), 93-101 (2004)
9. Fang, YP, Huang, NJ: H -accretive operators and resolvent operator technique for solving variational inclusions in Banach spaces. *Appl. Math. Lett.* **17**, 647-653 (2004)
10. Zou, YZ, Huang, N-J: $H(\cdot, \cdot)$ -accretive operator with an application for solving variational inclusions in Banach spaces. *Appl. Math. Comput.* **204**, 809-816 (2008)
11. Xu, Z, Wang, Z: A generalized mixed variational inclusions involving $(H(\cdot, \cdot), \eta)$ -monotone operator in Banach spaces. *J. Math. Res.* **2**(3), 47-56 (2010)
12. Ahmad, R, Dilshad, M, Wong, M-M, Yao, JC: $H(\cdot, \cdot)$ -cocoercive operator and an application for solving generalized variational inclusions. *Abstr. Appl. Anal.* (to appear)
13. Petryshyn, WV: A characterization of strictly convexity of Banach spaces and other uses of duality mappings. *J. Funct. Anal.* **6**, 282-291 (1970)
14. Tseng, P: Further applications of a splitting algorithm to decomposition in variational inequalities and convex programming. *Math. Program.* **48**, 249-263 (1990)
15. Karamardian, S: The nonlinear complementarity problem with application, part 2. *J. Optim. Theory Appl.* **4**, 167-181 (1969)

doi:10.1186/1029-242X-2012-149

Cite this article as: Ahmad et al.: Generalized set-valued variational-like inclusions involving $H(\cdot, \cdot)$ - η -cocoercive operator in Banach spaces. *Journal of Inequalities and Applications* 2012 **2012**:149.

Submit your manuscript to a SpringerOpen[®] journal and benefit from:

- Convenient online submission
- Rigorous peer review
- Immediate publication on acceptance
- Open access: articles freely available online
- High visibility within the field
- Retaining the copyright to your article

Submit your next manuscript at ► springeropen.com